Grade 16
Grade 15
Grade 14
Grade 13
Grade 12
Grade 11
Grade 10
Grade 9
Grade 8
Grade 7
Grade 6
Grade 5
Grade 4
Grade 3
Grade 1/2

Job Family

Map of job families to grading structure

LDR16
LDR15
BPS14 CMS14 COu14 CAH14 EAT14 FIN14 HRS14 TRA14 LEG14 PLA14 PPM14 PAP14 SCl14 SOE14
BPS13 CAH13 EAT13 FIN13 HRS13 TRA13 LEG13 PLA13 PAP13 SCI13 TRS13
BPS12 CAT13 CMS12 Cou1lz CAH12 EAT12 FIN12 HRS 12 TRA12 LEG12 PLA12 PPM12 PAP12 SClI12 SOE12
BPS11 CAT11 CMS11 CAM11 COu11l CAH11 EAT11 FIN11 HRS11 TRA1l LEG11 PLA11l PAP11 SCI11 SOE11 TRS11
BPS10 CAT10 CMS10 CAM10 COu10 CAH10 EAT10 FIN10 HRS10 TRA10 LEG10 PLA10 PPM10 PAP10 SCI10 SOE10
BPS09 CATO09 CMS09 CAMO9 COuU09 CAHO09 EATO09 FINO9 HRS09 TRAO9 LEGO09 PLAO9 PAPO9 SCI09 TRSO09
BPSO08 CATO08 CMS08 CAMO8 Ccouo0s8 CAHO8 EATO8 FINO8 TRAOS8 LEGOS8 PLAOS PAPOS8 SCI08 SOEO0S8
BPS07 CATO7 CAMO7 CAHO7 EATO7 FINO7 HRSO7 TRAO7 LEGO7 PLAO7 PAPO7 SCI07 SOEOQ7 TRSO7
BPS06 CATO6 CAMO6 COuU06 CAHO6 EATO6 FINO6 TRAO6 SCI06
BPS05 CATO05 CAMO5 COuU05 EATO5 SCI05
BPS04 CATO4 CAMO4 COu04 EATO4 SCI04
BPSO03 CATO03 CAMO3
BPS02 | CATO01/2 CAM/01/2
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